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The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
OO ePPTYRd el fra
(a) What is endogenous growth?
SEEe [Rar 2

(b) Mention one assumption of Solow
model.

5'a’ SE Qb1 SSYRN SrEe F47 1
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(c)

()

(e)

(g)

(h)

A23/853

(2)

“Consumption function expresses the
relationship between consumption and
investment.” Is it true?

“@1 TR @ S REGER See T
AT IR 1 G FOjH 2

Who introduced the permanent income
hypothesis?

I S SO @I ST SRR 2

What is inventory investment?

oo [ &9

What is monetary policy?

o1 T 2

What is time consistency of monetary
policy?

1 ST A A 92

“Central bank of a country prepares
its fiscal policy.” Is it true or false?

“om GITS @I AT |WR e TS owe
IR G NS (7 ] 9
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(3)

(i) Mention one classical assumption.

51 FRFPre SR S 311 |

() Name one new-Keynesian economist.

GG A-(FS o1 A wd 9 forat |

2. Answer the following questions : 2x5=10
eTo fudl epeTyRd Teq frar

(a) Mention two limitations of Harrod-
Domar model.

(X'T-T'I AR To1 ARz S 3 |

(b) Mention two assumptions of rational
expectation hypothesis.

PEmere oo S O SSqRl SrEy
1 | |

(¢ What is ' meant by residential
investment?

S [ivcnst e & 3w 2
(d) Mention two objectives of monetary
policy.

Tul e 701 T Teme 41 |
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( 4)
(e} Mention two features of new classical
thoughts.

T FREIPS SRYAR K01 CaM2s Teay <041 |

3. Answer any four questions from the
following : 5x4=20

wers farTRa /1 R e oo 29 Tex forq -

(a) Explain the limitations of Solow model.
5% W1EY RaRaerez A 41 |

(b) Explain the technical attributes of
Keynesian consumption function.

TR (o1 TR IR BPTHR WA 1|

(c) Briefly explain the random walk of
consumption expenditure.

(o151 IR IORF (A& GYLF WA T4 |

(d) Explain the main determinants of
demand for money.

AR SIfRwR gym AR w4
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(S)

(e) Distinguish between active and passive
monetary policies.

ST W OErs @ M TR AN [
il

() How did Keynes differ from the
classicists? Explain.

TEFe wEifeReRaels @XP 20 499 ?
M FA

4. Answer the following questions : 10x4=40
s faa eppTyRd el o

(a) Critically discuss the Harrod-Domar
growth model. ‘

ER'T-T'IA [er =fEhl AT A2
A 341 |

Or / 931

Discuss the relationship between
technological progress and elements of
endogenous growth.

sfeae  waafs W wEEee  Rerr
ToAMFPTRR e T HICEA 341 |
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(6)

(b) Discuss critically the permanent income
hypothesis.

¥ WA SIAFCO] FAACALA AR SAICAO
1

Or / 9471

What are the determinants of business
fixed investment? Discuss.

e 7R RfAcns ez & & 2 s
30

(c) Critically discuss the Keynesian
consumption function.

PO CO151 FACH! Ao AZBICI ST
341 | :
Or / 94T

Discuss the ‘government budget
constraint’.

‘541l CHO YT HTEAH=T 4T |

(d) Discuss different types of government
debt. What is Ricardian equivalence?
7+3=10

Al W Rfen aerez ScEw F140
e et f 2
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(7))

Or / |

Discuss the main features of classical
school of macroeconomic thought.

TR HAARSE SRYRE AFTS (M6 [
CIFREBPTZ. SCeAT 4T |
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